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1. Before answering carefully verify all information related to the

candidate, printed ‘on Page 2 of th nswer Sheet. If the
' didate, then inform

the Invigilator immediaty ¢ reple
I A A @ wlieref 43 43 5 I8 2 T qid
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ted for wrong answer.
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The dimensional formula of work done is the samec as thc

1.

dimensional formula of

(A} Momentum (B) Power
s (Cy Energy | (D) Torque
ﬁﬁ@ﬁw%ﬂatﬁ,ﬁmﬁﬁaﬁﬁmﬁrﬂaqﬁ%m% ?
(A)  Ham B) Ti%
© Sl (D) == 3

The dimensional formula of the universal gravitational

constant ( G) is
(AL [M-ILS T-2 ] (B) [M-2L2 T-l ]

€ IMTLETE (O) (M2L3T2)
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iy el frrais (G ) w1 fardia T3 2

A) (M) B) [M2AT]
(€ (ML T?) D) (MLRT?

3. . | Which of the following is not the name of physical quantity ?
{}i]/ Kilogram : (B) Density
[gk Impulse | (D) Energy
ﬁmﬁ«rftaﬂﬁﬁaﬂq-mtﬂ%mtr&ﬁmqé:f%?
(a) T (B) o

(C) (D) w
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4. Which SI unit is used to measure luminous intensity ?
(A}/ candela ( cd) (B) lux(lx)
(C) lumen (lm) (D) watt (W)

aﬁﬁ—tﬁammuﬂ%%ﬁ%a agrémraqu’m%mm‘%?

(A) HST (cd) . (B) &9 (lx)
(C) gﬁ'-r(lm) : (D) dR (W)
S. If an object moves with constant speed in a circular path, what

can we say about its velocity ?
(A) Itis constant (B) Itis changing
. . * . ‘V

(C) Itiszero | (D) Itis undefined
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uﬁﬁémﬁmwm@mwﬁtﬁm%,?ﬁmm&n%ﬁ

MARMFEARIE ?
(A) & fa g (B) 9g e &1 &
(C) “3‘*’!3'% (D) ¥ 3t

Which of the following quantities is a vector ?
.(A] Speed (B) Distance
(9 Velocity (D) Time
Prerfifen @ #4-4h 700 @ wiw i R 2

() = B

© A (D) wm
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7. Which equation of motion can be used to find the final velocity

when initial velocity, displacement and acceleration are

known ?

A) v=u+at (B) s=ut+-%-a!2

(C) v=u+2as (D) v?=u?+2as
w’

L]

Ry am, fyeyme 3tk o @ @R w), 3ifed 9 e @ & fou g

%mmmwmmma ?
A) v=u+at B) s=ut+lat’
(C) v=u+2as D) o2 =u?+2as
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8.

i ie 1 ircction,
If two vectors are equal in magnitude and oppositc 1n di

their resultant is

(A)  Maximum (B) Minimum
(C)  Zcro (D) Indeterminate
4

afe Q wiew ufem & gam ok feon § Rt 3, @ 39 gfom 2

(A)  ftrram : . (B) =W

) 3 (D) Hfafraa

The scalar product of two vectors is also known as

(A) Cross product (1) Dot product
(C) Scalar (D) Vector multiplication
XS-PHY-(COMP.).§ 8 7 29
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10.

PHY

2 gfewi & afew AR H L F =9 § ot = A 2
(A) 18 TURA (B) ﬁgw
(€ e (D) | EEEA

In projectile motion, the horizontal componcent of

rcemains

(A) constant (B) increcasing
e

(C) decreasing (D) zcro

yeye nfa 8, 4 @1 AfdA geF w2

(A) A (B) @Al & R

(C) uedl &M R D) =
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11. A ball of mass m strikes a rigid wall with velocity

, . the
rebounds with the same speed. The impulse imparted to

ball by the wall is

A) 2mu B) mu
(C)  zero (D/]/ —2mu

m S 6 T e w31 QT FeR AR Q@ e 2 st 3d ah @
mméléﬁwmﬁaaﬁﬁmnmaﬂanm

A 2mu B mu
(C) SEI (D) —-an;

12.  Which of the following is known as the law of inertia ?

(F\LJ/ Newton’s first law of motion
(B)  Newton’s second law of motion
(C)  Newton’s third law of motion

(D)  Law of conservation of mass
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frafflga § 4 fr Sz & Fam & w9 § 50 omar 8 ?

(A) =g i il =1 ggen Fram
(B) =g = nifa =1 g@ Frm
(C) =g s i = dfwu fram
(D) SUUI % TE = fam

13. Change in momentum is given by

(A)  Force x Mass (B Force xTime
(C)  Force x Velocity | (D), Force x Displacement
g A ofEdq ... g1 feam S @

(A) T x FEET (B) @ x U

(C) & x M (D) & x R
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14.

Ing on
A cork of mass 10 g is floating on water. The net force acting

the cork is - ¥
(A) 10N
e

(C) 102N

9 8
© 107N (D) ON

15.  Energy is
. (,!}J capacity of doing work
| (B) rate of ;:ioing work
(C}  change of work

(D)  none of these
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16.

Sl @
(A)  FE FA N g (B) wH & X
(C) e ahadn (D) T A T

Area under force-displacement curve represcnts
(A)  Velocity | (B)  Acceleration
(C) Impulse (QJ,I Work done
Fol-fereTa a5k 1 SAHS ST 8

(A) (B) TR

(C) 3w . D) Frm mn wr
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17.  In perfectly inelastic collision

{AJ/ Only momentum is conserved

(B)  Only kinetic cnergy is conserved

(C)  Momentum and kinetic encrgy both are conserved
(D) None of these

9Ol TRy Ta 3

(A) a1 w3 Tl g 2

(B) e nfost il sy Bl 2

(C) Hﬁnaﬂtvﬁamﬁaﬁm—aﬁg

D) 378 | w¥
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18. If an athlete does 500 joules of work in 4 seconds, what is his

power output ?

-

(Aj/f 200 watts (B) 125 watts

(C) 1250 watts (D} 4 walts

R F13 ueliz 4 A § sooagwm%,mwaﬁw%ﬁwérﬁ ?
(A) 200 watts (B) 125 watts

(C) 1250 watts (D) 4 watts

19. The product of moment of inertia and angular velocity is called
(A}  Torque (B) Impulse

(C} Linear momentum (D/ Angular momentum
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Tt et i Fofta 3 a1 T FECA &
(A) =t 3l () 3man
€ oty w3 (D)  Wivig Fam

20.  What is the unit of the radius of gyration ?

(A)  kg-m? (B) kg
(C) | m (D) kg-m
gftymw s %1 ars ?Rﬂ 27
(A)  kg-m? (B) kg
(€) m (D)  kg-m
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21. Rotational kinctic energy is equal to
A T’ B) 1?0’
3
€  SId? (D) %Img
ool e St are e 2
A)  To? B 120?
3 2 1, 2
(C) 5 Io . (D) 5 o
22.  What is the moment of inertia of a solid cylinder of mass M and
radius R about its own axis ?
' 2 ' : 1 2
(A) MR B) MR
3 MR2 ‘D) 2MR?
(C]{ 5 MR D) 3
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oAU M 3N s R% G 919 So @1 IS G $ R g I

1 8
(A)  MR? | (B) %MRQ
() —gMR_? (D) gﬂm2
23.  Which law describes the orbits of planets around the sun ?
(A)  Newton’s law (B)  Faraday’s law
(9/ Kepler’s law (D). KirchhofPs law
' /

-1 P g 35 0 3 7 st b e 2

(A) =T =1 fagy (B) W2 & frey

(€)  Fwer 1 frm (D) foats %1 fiam
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24. Wherce will it be profitable to purchasc onc kilogram of sugar ?

(!}}/ At poles (B) Atequator

(C) At45° latitude (D) At 40° latitude

w freimm i Tl 7 A aneEs g 2

(A) & W (B) EHE T W

(C) 45°HWMAW (D) 40° YW T
@ Gravitational force is a .....oooeeen, force.

(A) Contact Y " (B) Longrange

(C) Electromagnetic X ([3?/ None of these
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(A) W B) @@ H
(C) fom =g | (D) 7 @ %I T
26. The restoring force per unit area is known as
(A)  strain (B) elasticity
9/ stress (D) plasticity

mmmmmmaﬁﬁmmﬁmm%p

(A) fopfa , (B) e

(C) yfew (D) wRRA
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27. Hooke’s law states that

jﬁl Stress is directly proportional to strain
(B)  Stress is inversely proportional to strain
(C) Stress is equal to strain

(D) Stress and strain are independent of each other
T o A s '2(
(A) e gl Wﬁﬁ 2
(B) v Frgl g &
) whee fpl anat 2
(D) uﬁaaaﬂtﬁ?ﬁf@@ﬁﬁﬁﬁ
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28. Liquid pressure depends upon
(i), area of the liquid surface
(B)  shapc of the liquid surface
(C)  height of the liquid column
(D) directions
& gE s wmr @
W T e
(B) TS WG % NHR W

(C) ®a &Y i 3K w

(D) fewmafi w
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29.

The unit of surface lension is same as that of

(A)  surface €Nergy per unit volume
(B]/ force per unit area

(C)  surface Cnergy per unit area

(D)  surface energy per unit length

(B) R ¥ & T
(©) s g & e
(D) s e e
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- eat transfer take
30.  In which substance does conduction mode of h |

place ?
(A)  Solid (B) Liquid
/
(C)  Gaseous | (D)  All of these
forer waref o gy VIR =1eH Rty @ Bt 2 o
(C) i O) ¥ i
31.  Which of the following materials has the highest specific heat
a
capacity ?
(A)  Ice (B) Glass
(C) Iron [E))/ Water

XS-PHY -(COMP,).g
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ﬁnﬁa%ﬂméﬁﬁﬁmmmﬁmmm%?

(A) =%
(4) # B wed
© AR o) E

32. The zeroth law of thermodynamics leads to the concept of

(A) Internal cnerg-y (B) Heat content

(_C) Pressﬁre [Bl ‘Temperature
SR %1 g Hife Fraw e smumon A INA AR ?
(A)  arafeh Sl © (B Fi@sen
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33. In a cyclic process, work done by the system 1S
(A)  zero
(B)  equal to the heat given to the system
(C.} more than the heat given to the system

(D) independent of heat given to the system

[

w1 s A, e gro fem e L g 3|
w

(B)' e B & ™ I & W

©) FrEm 8 o 3 sy

D) P R @ 7 sy 3 ey
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34.

Pty
Beilence

Average kineti
Inctic en
€&y of the molccules of a gas is dircctly

Proportiona tqo

(A)  Pressure (B) Volume

(C/) Temperature (D)  None of these
g & Il A aitea nf s L ¥ FTHATET B R |
(A) <= (B) A

(C) dmMHA (D) ¥ @+ T

35. If car tyres are hot, pressure of gas molecules in them would be

A high
/
(B) low

(C) same as before heating

(D) may be high or low
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o g
R o % T md |, @ 3 g IR B A e
(A) 3I=
B) fm

(€) ™2 A vER & wAe
(D) 3= 31 e

Which of the following quantities remains constant for a simple

harmonic oscillator ?
(A)  Velocity (B)  Frequency
(C) Amplitude (D) Displacement

T e o et e B 2 e iy g e 4

(A) = B)  smhy
() smam | D) ey

XS-PIIY"COMP.l-S
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37. Which of th
c * .
followmg IS @ necessary condition for SHM ?

(A)  Priction

(B) Non-linearity
(C})  Elasticity (D) Gravity
frafafiaa 3§ @ FH-d sHM ¥ fre sravs @ 2 ? |
@A) wdm @) RfEw

(C)  WATERl (D) TR

38. Which physical quantity does the amplitude of SHM represent ?

(A) Maximum speed

(B) Maximum displacement
(C) Maximum acceleration
(D) Maximum time period

XS-PHY-(COMP.)-S 29 / 39



PHY

Science
ELVN (11)/11/3320 JAC

SHM &1 31am fae witfass afdr =1 gufar @ 2
(A)  Hftsan 1y ) e fRTH
(C)  Hftremam = (D) it AT

‘ : i i ing or organ
@ What type of waves arc produced in a vibrating string &

pipe ?
;{}] Transverse waves
(B} Loﬁgitudinal waves
(C)  Electromagnetic waves Y

(D)  Surface waves
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40.  Which property of sound waves is responsible for the formation

of beats ?

(A)  Amplitude (B) Wavelength
C F D Speed
V{/} requency (D) p

w7 o RA-T o R (die) % R % frg e £ 2

(A) ST (B W

(C) Imgf (D) =™
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